


[Tokaxxkure
C KQAKUM HaCTPOE€HUEeM Ha4yUHaeM YPOK
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45 630 817 294
4 COTHU MUJIJIMOHOB
45 COT€H MUJUJIMOHOB



25. 004.000.079
25.004.000.073
25.0004.000.030



2047639-459086= 1 533 553
305296-72058=233 238

1800 .70=126 000
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X=87+93
X=180
180-93=87
87=87
OTBeT:x=180
X-93=87

X=450:9
X=50
450:50=9

9=9

OTBeT: X=50

450 : X=Q

X=240:60

X=4

4. 60=240
240=240
OTBeT: X=4

X .60=240



5MQCM=50Q9CM O61132KIr=632KT
6M41M=640CM 3T54KI'=3054KT
7KMQ1M=7091M 21000T'=21KT



a+B+(a+B):3
A=17, B=19

17+19+(17+19):3=48(3)
OTBeT: Ha necHoii ormyiiike ObLIO
48 3Bepen.



1)5+3=8(T)-cpen [Iarauox
2)8.7=56(T)-chen Bunum-
[Iyx
3)5+8+56=69(T)-chenu
BMeECTe
5+(5+3)+(5+3).7=69(T)

OTBeT: 69 TapeJIOK MeJia Chejn
BMeCTe.









[ Tokayxure
C KAKUM HaCTpOeHneMm
3aKaHYUBaeM




